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II.

Exercise Six

Form Identification. Identify the following forms. List all possibilities.

eloeABOvTec: nom./voc. pl. m. aor. act. part. of elcégxouat
aotewa: gen. sing. n. of oy, -ewg, 16

KATAKEKQIHEVOV: acc. sing. m. and nom./acc./voc/ sing. n. perf. mid./pass. part. of
KATAKQIVW

adikovto: 31 pl. aor. mid. (deponent) ind. of ddpukvéouat
kekwvdvvevkapev: 1st pl. perf. act. ind. of kKivdvvedw

arnyyaryov: 1¢t sing./3 pl. aor. act. ind. of dmayw

AenAatriootev: 31 pl. fut. act. opt. of AenAatéw
naQaryyelAavtec: nom./voc. pl. m. aor. act. part. of magaryyéAAw
aviotavto: 3 pl. imperf. mid. ind. of &viotnuu

kaBopav: pres. act. inf. of kaBopdw

elev: 31 pl. pres. opt. of eipi

£Por|Oovv: 1% sing./3 pl. imperf. act. ind. of fonOéw
ovvelAnuuévov: gen. pl. m./f./n. perf. mid./pass. part. of cvAAapPAVW
ntagnoav: 34 pl. imperf. ind. of taetpL

riéoot: 31 sing. aor. act. opt. of minTw

érudetat aor. act. inf. of émdelkvupL

otnoapevot: nom./voc. pl. m. aor. mid. part. of lotnpu
AaBovtec: nom./voc. pl. m. aor. act. part. of Aapupavw
opooavteg: nom./voc. pl. m. aor. act. part. of Spvout

éotw: 31 sing. pres. imperative of el

Dictionary Drill. List the dictionary entry and meaning of each of the following words. You
may use a standard lexicon or the dictionary in the back of this textbook.

1.

10.

ATy AYOVTEG: ATAYW, ATAEW, AT YAYOV, ---, AT YHAL ATt)XOnv; lead away
EvémAnoav: EUmUTAN UL, EUTANOW, EVEMANOQ, EUuTEémANKa, EUMENTANOHAL,
evemAnoOny; fill

ATOPAAOVTEG: ATIOPAAAW, ATIOPAAW, ATtéParov, amoBEéPANKa, ---, --- ; lose
AVEXWENOAV: AVAXWEEW, AVAXWONOW, AVEXWQONOX, AVAKEXWONKA, -, - ; withdraw,
return

eEwmAlopévol: EEomAilw, ---, EEdmAoa, ---, eEmAlopal, éEwnAloOnv; arm oneself
(mid./ pass.)

OLOKEVAOAUEVOL OLOKEVALW, ---, CLVETKEVAOQ, ---, TUVEOKEVAOHAL, CUVECKELAOONV;
pack up

ouveleYHEVWV: OLAAEYW, OLVAAEEW, ouvEAeEa, ovveidoxa, ovveldeyuat,
ovveAéxOnv/ovveAéyny; gather together, summon, call together; come together,
assemble (pass.)

amnéBavov: anobvijokw, anoBavovuat, anédavov, -, ---, - ; die, be killed, be put to
death

OLWTNOELE: OLWTIAW, OWWTINOOHAL, ECLWTNOA, CECLWTINKA, ---, E01wTMONV; be silent
TAQAdOVTEG: TMAQAD WL, TAQADWOW, MAQEDWKA, TAQADEDWKA, TAQADEDOUALL,
naeedo0nv; hand over, surrender



Attica Intermediate Classical Greek

II1.

11.

12.

13.
14.
15.
16.
17.

18.
19.
20.

elAke: EAkw, -EAEw, elAkvoa, -elAkvka, -eiAkvopal, -eiAkvoOnv (imperf. eiAkov): drag
about, drag

O0oHNOElS: OQHAW, OQUNOW, WOHNOA, WQUNKA, WOHNUAL WO ONV; start from, hasten
from

TIQOCETILTITOV: TQOOTUTITW, TIROCTIECOV AL, TIQOOETIECOV, MQOOTETITWKA, ---, --- ; attack
émte: v, mlopa/TovHaL, €TI0V, THEMWKA, -TTETORAL, -€toOnv: drink

petaotoadels: petaotoédw, -, petéotoeda, ---, ---, LETEOTEADNV; turn

vmneétat VINEETNG, -ov, 6; attendant, assistant

ToeapevoL: TREMw, TRéPw, EToea, TETEoda, TETQAM AL ETEEPONV/ETRATNV; turn,
rout

annABov: amégyopat, ---, artnABov, aneAnAvOg, ----, --- ; go away

katéBnoav: katapalvw, katafrjoopal Katépny, kataépnra, ---, --—- go down
efovta: E€eyu (etp). ---, ---, ---, ---, --- ; go out

Accent Drill. Place the correct accents on the following words and justify your choices.

1.

10.

11.

12.

poBovoBat: Contract verbs are accented according to where the accent falls on the
uncontracted form (uo0éeoBau). If the accent falls of the first of the two contracting
vowels, the resulting accent will be a circumflex over the contraction.
Ndiknke: Verbs take a recessive accent (R1.4). The ultima is short, therefore the
antepenult must be accented (R1.4.1.1).

Oeovc: Nouns have a persistent accent (R1.5). The accent on this noun falls on the ultima.
avOpwmois: Nouns have a persistent accent (R1.5)and this noun takes its accent on the
antepenult (&dvOgwmoc). Because the ultima is long, the accent must shift one syllable to
the penult (R1.5.2).

Ouvowwov: All first declension nouns take a circumflex on the ultima of the genitive plural
form (R1.5.5).

éAee: Verbs take a recessive accent (R1.4). Since the ultima is short, the antepenult takes
the accent (R1.4.1.1).

xtrtwvag: Nouns have a persistent accent (R1.5) and this noun takes its accent over w.
Because the ultima is short and the penult is long, that accent must be a circumflex
(R1.3.3.3).

Oeaic: Nouns have a persistent accent (R1.5). A first- or second-declension noun that has
an acute on the ultima in the nominative singular (an oxytone), will take a circumflex in
the genitive and dative forms, singular and plural (R1.5.4).

vévntat Verbs take a recessive accent (R1.4). Since the ultima is short, the antepenult
may be accented (R1.4.1.1). Remember that final —at and —ot are considered short for the
purposes of accentuation.

émeloav: Verbs take a recessive accent (R1.4). Since the ultima is short, the antepenult
may be accented (R1.4.1.1).

doket: Compound verbs are accented according to where the accent falls on the
uncontracted form (dowéet). If the accent falls of the first of the two contracting vowels,
the resulting accent will be a circumflex over the contraction.

naQadoaaotv: Verbs take a recessive accent (R1.4). Since the ultima is short, the
antepenult may be accented (R1.4.1.1).
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Translation Strategy Practice. Each of the following sentences contains an indefinite relative or
temporal clause (R11.1, 11.2, 11.4). Be sure to bring out this distinction in your translation.

1. Otav avOEwmMOoL KOLVWVOUG tKavoug un AapBavwoty, aduvatov €o0TL v dnpokeatiav
dlapéverv.

Whenever men do not take on sufficient partners, it is impossible for the democracy to
survive. (indefinite temporal clause in form similar to a present general condition)

2. Onoapévng émetripet OTtote ABNVaiol épeAAoV dux TO EmAeAotméval TOV OlToV
ATavTa ATVA TIG AéyolL OHOAOYT|OELV.

Theramenes was looking out for when the Athenians, because the food had run out, were
going to agree to whatever someone was saying. (indefinite relative clause)

3. ot totakovta tov KaAAiBov é0epamevov ndon Begamela tva mavta émawvoin &
TIOATTOLEV.

The Thirty were cajoling Callibius with every flattery so that he would approve of
everything that they were doing. (indefinite relative clause)

4. Otav AVoavdog 01 Tva ov dAAov ABnvaiov, aroTtéptet eig tag ABrjvac.
Whenever Lysander sees some other Athenian somewhere, he sends <him> back to
Athens. (indefinite temporal clause in form similar to a present general condition)

5. EMedav tva aloBavwpeda Evavtiov T 0OAryagxia, ékmodwv momnoopeda.

Whenever we perceive that someone is opposed to the oligarchy, we will get rid <of him>
(literally, “make <him> out of the way”). (indefinite temporal clause in a form similar to a
future more vivid condition)

Translation. Translate the following sentences into clear and grammatical English. Identify the
form and explain the syntax of each of the boldfaced words.

1. el ol ToLaKovTIa Tva alcBavovto évavtiov M) 0Aryagxia, EKmodwV MOLOIVTO Av.
If the Thirty should perceive that someone is opposed to the oligarchy, they would get
rid <of him> (literally, “make <him> out of the way”).
rtototvro: 34 pl. pres. mid. opt.; apodosis of a future less vivid condition (R10.4)

2. ot Aacedatpédviot ovk Epacav oA EAANda avdoamodieiv péyo ayadov
elgyapévnv €v 1oig peylotolg Kivdvvolg yevouévols t EAAGDL.
The Lacedaemonians denied that they would enslave a Greek city that had accomplished
great good during (literally, “in”) the greatest dangers that happened to Greece.
avdpamodielv: fut. act. inf.; infinitive in acc./inf. construction of indirect statement (R7.1)
elgyapévnv: acc. sing. f. perf. mid. (deponent) part.; circumstantial participle (R6.2)
modifying moAwv

3. 0 Kottiag mpometrg v €mi 10 MOAAOUG &mokTeLvELY dte HuywV UTTO TOL djHOvL.
Critias was prone to killing many men since he was exiled by the people.
amoktelvelv: pres. act. inf.; articular infinitive (R5.2) in accusative case (R5.2.4), used as
object of preposition i

4. 0 Kottiag avéAeyev 6Tt ovk &yxwpoin Toic mAeoveKTelY BOVAOUEVOLS UT) OVK EKTTODWV
moLeloBat ToUS IKAVWTATOVS DLAKWAVELV.
Critias answered that it was not possible for those wishing to gain the advantage not to
get rid of those most able to hinder <them> (literally, “to put/make those most able to
hinder <them> out of the way”).
dtakwAvewv: pres. act. inf.; explanatory infinitive (R5.4)
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L u1) Ol TOLAKOVTA KOLVWVOUG IKAVOUS AQUPBAVOLEV TV TOAYHATWY, AOVVATOV €lN AV
TV OALyapxiav dlxpévery.

If the Thirty should not get sufficient partners of their affairs, it would be impossible for
the oligarchy to survive.

ein: 31 sing. pres. opt.; apodosis of a future less vivid condition (R10.4)

el é0wdovrioaTe, TOUTOL TOL KAKOL oVk EdeloaaBe av.

If you had been wise, you would not have spared this evil man.

épeloaoBe: 2nd pl. aor. mid. (deponent) ind.; apodosis of past contrary to fact condition
(R10.5)

0 Kottiag kat 6 Onoapévng moAAX Tov AQEOoKELY Eveka TH) MOAEL Kal elmoV kal
émpalav.

Critias and Theramenes both said and did many things for the sake of pleasing the city.
apéokewv: pres. act. inf.; articular infinitive (R5.2) used in genitive case (R5.2.2) as object
of preposition éveka

ol ToLakovTa EkEAgLOV TOV Bnoapévny Aafelv OvTiva TV Hetolkwv BovAotto.

The Thirty ordered Theramenes to seize whomever of the metics he wished.

Ovtwva: acc. sing. m.; indefinite relative pronoun introducing an indefinite/conditional
relative clause (R11.2)

£ENVv motetv toic totdcovta ¢ Tt fovAotvTo.

It was possible for the Thirty to do whatever they wished.

[ovAotvto: 31 pl. pres. mid. (deponent) opt.; optative in an indefinite/conditional relative
clause (R11.2) in a form analogous to a past general condition (R10.3)

ol oukodavtat éketvovg maQ’ wv xorjpata Aapfavotev Ny elwv.

The sycophants allowed those men from whom they were taking money to live.
Aapfavoiev: 34 pl. pres. act. opt.; optative in an indefinite/conditional relation clause in
a form similar to a past general condition (R10.3). The precise identify of éxetvoug is

unknown; hence the relative clause is indefinite.

Error Analysis. Each of the English translations of the Greek sentences contains a translation
error. Detect the error (or errors), determine what is incorrect, and write a correct translation.

€L 0UTOG 0O, MOAAX KAKX TIEOG TV TTOALV TTOMOEL.

If this man saves, he will do many evil things against the city.

Correct translation: If this man is saved, he will do many evil things against the city.
Error: ow0n] is in the passive voice, not the active voice.

el AVoavdEog €lde Tva oL adAAov ABnvaitov, aménepev av eic tag AOnvac.

If Lysander saw some other Athenian somewhere, he sent him back to Athens.

Correct translation: If Lysander had seen some other Athenian somewhere, he would
have sent <him> back to Athens.

Error: As indicated by dv, this is a past contrary to fact condition (R10.5), not a simple
past condition (R10.2).

ol ABnvaiot eimov 6Tt moAAoL €v 1) TOAeL At amoBavoivto.

The Athenians said that many people in the city had died of hunger.

Correct translation: The Athenians said that many men in the city would die of hunger.
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Error: droOavoivto is a future optative, not an aorist optative. This is an indirect
statement construction introduced by eirtov dtL. Since the main verb is in the aorist, a
secondary tense, the future optative is substituted for the original future indicative (R7.3).
4. EKETVOL AVAKOPIOAVTES TA OTAQ TV MAVIWV TATV TV TOLOXALWY €lG TNV AkQOTOALY
oLVEDMKAY €V TQ VaQ.
Those men, after they carried the weapons of everyone except the three thousand into the
Acropolis, will dedicate them in the temple.
Correct translation: Those men, after they carried the weapons of everyone except the
three thousand into the Acropolis, dedicated them in the temple.
Error: ovvéOnkayv is in the aorist tense, not the future tense.
5. oL TOLAKOVTa dLEBAAAOV TOV ONEAEVTIV WG AVHALVOLEVOV TNV TOALTELV.
The Thirty were slandering Theramenes on the grounds that he had ruined the government.
Correct translation: The Thirty were slandering Theramenes on the grounds that he was
ruining the government.
Error: Avpawvouevov, a circumstantial participle (R6.2), is in the present tense and so
indicates time contemporaneous with that of the main verb.



